
2h
2

2mm

CAB058
PREMIUM ROUND
95x95x230CM



X1

R1

W

Y2

X2

Q

Q

Y1

S

R

U VO P P
O

1



A1

m4x10               x20 m4x14               x12 m4x55                 x8 m4x16                x6

A2 B1 B2

C3 E F1 F2 G

H1 H2 H3

x1

x5

x1

x2

x1

x1

x1 x1

x2

x1

x1

x2

x2 AURL212

m4x16                x 8  

x17

x1

C1

H5 H6

H7 I J K L1 L2

M
x2

x2

x1

2

D

N

x1x1 x1

C2

H4

AURL292

AURL070 AURL074

AURL071

AURL200

AURL216 AURL052 AURL236 AURL213

AURL284

AURL285 AURL066

AURL294 AURL289 AURL288

AURL287

AURL295 AURL296

AURL302

AURL304



R1 R2

X2

O

X2

P R

Q

S T

U V W X1 X2 Y1 Y2

X2

3



S

S

ST

D

D

D
4



Q

Q

B1

X1

B2

m4x16

m4x55

m4x55

m4x16

X2X1

B1

B2

X1

X2

Q

Q

X1

5



6

Q

Q

I

U

V

X1

X2

V

V
K

Q

J

Q

U

U VX1 X2

S

V

O

P

!



Y1

Y1

A1

S

Y1

m4x10

S

C2

7

C1
C3.

UV X1
X2

X1

．．．．

．．．．

m4x16



x5

x1

W

H38

L1

L2

W

G

H4

N

L2 L1

L1

L1

L1

L1

H3

H4

I

W

C1
M

I
!

m4x16

W

N1



W Y1

W

Y1

W

Y1

W

Y1

W Y1

9 2

3

4

51

W

Y1



2

3

4

Y2 W

Y2

W

Y2
W

10

Y2
W

W Y1Y2

W
Y1Y2

51



S

A1 m4x10

Y2

Y2

11

W
Y1Y2

S

X2

．．．．

．．．．



12

m4X10
A1

m4X14

m4X14

W
Y1Y2

F1

F1

F2

R
R

R

R

Q

R

Y2

A2

A2



S

m4x14A2

Y2

S

W1

K13

W
Y1Y2



14

H5

H6

H5

COLD 
WATER

E

F2

H1

L1

L2L1

L1
L1

L1

H6

H7

H5

H5

!

H7H6

H2

H4

G

HOT 
WATER

E



W

Y2

15

F1



16

Hot  water Cold water

①
②

Presser ou dévisser la tête de la buse 
de massage pour la nettoyer

 Drücken bzw. Schrauben Sie den 
Kopf der Sprühdüse ab um diese zu 
reinigen

Press or unscrew the massage 
sprayer head to clean it

Presionar o desatornillar la cabeza 
del jet para limpiarlo

Pressione ou desaparafuse a cabeça 
do jet para limpa-lo


